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Fill in the blanks for each problem.

856 + 10 =     866     910 - 10 =     900     259 + 100 =     359     222 - 100 =     122     

925 + 10 =     935     429 - 10 =     419     894 + 100 =     994     908 - 100 =     808     

710 + 10 =     720     855 - 10 =     845     499 + 100 =     599     329 - 100 =     229     

633 + 10 =     643     657 - 10 =     647     689 + 100 =     789     850 - 100 =     750     

776 + 10 =     786     617 - 10 =     607     743 + 100 =     843     682 - 100 =     582     

411 + 10 =     421     504 - 10 =     494     10 + 100 =     110     971 - 100 =     871     

679 + 10 =     689     606 - 10 =     596     631 + 100 =     731     122 - 100 =      22     

462 + 10 =     472     189 - 10 =     179     190 + 100 =     290     104 - 100 =      4      

296 + 10 =     306     241 - 10 =     231     184 + 100 =     284     880 - 100 =     780     

973 + 10 =     983     129 - 10 =     119     284 + 100 =     384     975 - 100 =     875     

413 + 10 =     423     586 - 10 =     576     547 + 100 =     647     254 - 100 =     154     

578 + 10 =     588     112 - 10 =     102     234 + 100 =     334     604 - 100 =     504     

310 + 10 =     320     944 - 10 =     934     428 + 100 =     528     739 - 100 =     639     

7 + 10 =      17     568 - 10 =     558     138 + 100 =     238     588 - 100 =     488     

331 + 10 =     341     450 - 10 =     440     673 + 100 =     773     594 - 100 =     494     

335 + 10 =     345     647 - 10 =     637     141 + 100 =     241     436 - 100 =     336     

525 + 10 =     535     811 - 10 =     801     295 + 100 =     395     339 - 100 =     239     

332 + 10 =     342     563 - 10 =     553     322 + 100 =     422     798 - 100 =     698     

889 + 10 =     899     576 - 10 =     566     683 + 100 =     783     733 - 100 =     633     

312 + 10 =     322     573 - 10 =     563     321 + 100 =     421     677 - 100 =     577     

796 + 10 =     806     969 - 10 =     959     779 + 100 =     879     402 - 100 =     302     

938 + 10 =     948     28 - 10 =      18     71 + 100 =     171     642 - 100 =     542     

639 + 10 =     649     27 - 10 =      17     559 + 100 =     659     820 - 100 =     720     

8 + 10 =      18     470 - 10 =     460     197 + 100 =     297     135 - 100 =      35     

680 + 10 =     690     440 - 10 =     430     235 + 100 =     335     523 - 100 =     423     
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